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[1] 

ROLL NO..................... 

BC1GII01/21 

ANNUAL EXAMINATION, 2021 

B. COM. -I 

GROUP-II 

PAPER-I 

BUSINESS MATHEMATICS 
TIME: 3 HOURS               M.M. 75 

    MINI.M.25 
uksV:-   lHkh ikap iz’uksa ds mRrj nhft;sA izR;sd bdkbZ ls ,d iz’u gy djuk 

vfuok;Z gSA lHkh iz’uksa ds vad leku gSaA  
Note:  Attempt all the five questions. One question from each unit is 

compulsory. All questions carry equal marks.   

 
bdkbZ&1/Unit-1 

iz-1- ¼v½ � rFkk � ds eku Kkr dhft, &   � � ��  

 Find the value of � and � -  

3� + 2� − 5 = 0 

3� − 1 = 2� 

 

¼c½ ,d O;fDr 7 ?kksM+s vkSj 8 xk;ksa dks 2]940 :- esa csprk gS rFkk 

5 ?kksMs+ vkSj 6 xk;ksa dks 2]150 :- esa csprk gSA izR;sd dk 

fodz; ewY; crkb;sA                    � � ��  

A man sells 7 horses and 8 cows at Rs. 2,940 and shares of 

6 cows at Rs. 2,150. What is the selling price of each.  

 

P.T.O.. 
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[2] 

 
vFkok/OR 

¼v½ fuEufyf[kr js[kh; izdzeu leL;k dks xzkQ dh fof/k ls gy  

dhft, &         10 

� = 3� + 5� 

tcfd           � + 2� ≤ 20 

� + � ≤ 15 

� ≤ 6 

rFkk        � ≥ 0, � ≥ 0     

Solve the following linear programming problem by 

graphical method : 

� = 3� + 5� 

Such that        � + 2� ≤ 20 

� + � ≤ 15 

� ≤ 6 

and        � ≥ 0, � ≥ 0  

 

¼c½ mu nks la[;kvksa dks Kkr dhft, ftudk ;ksx 64 rFkk vUrj 

16 gSA              05 

Find the two numbers where sum is 64 and whose 

difference is 16.  

 

 

 

[7] 

 
¼c½ ,d ,stsUV uxn fcdzh ij 5% deh'ku rFkk m/kkj ij 9% 

deh'ku ysrk gSA ;fn dqy feykdj mls dqy fcdzh dk 

� � �� % feyk gks rks nksuksa izdkj dh fcdzh dk vuqikr Kkr 

dhft,A         � � �⁄  

An agent charges 5% commission on cash sales and 9% on 

credit sales. If his overall return is � � �� %  on total sales. 

Find the ratio between the two sales.  

vFkok/OR 

¼v½ ;fn cV~Vs dh rhu dzfed njs 20%, 10% rFkk 5%  gksa] rks 

cV~Vs dh ,dy nj Kkr dhft,A      05 

If the successive discounts are 20%, 10% and 5%, find the 

single  equivalent discount rate.  

 

¼c½ eksgu us ,d iqjkuh dkj [kjhnhA og mls 10% ykHk ij csp  

ldrk gSA ,d nyky mlh dkj dks 15% ykHk ij fcdok 

ldrk gS ijUrq 3% nykyh ysxkA ;fn nyky ds ekQZr dkj 

cspus esa eksgu dks 124 :- vf/kd ykHk gksrk gS rks crkb, 

mlus dkj fdrus esa [kjhnh Fkh\       10 

Mohan purchased on old car. He can sell it at 10% profit. 

An agent can sell it at 15% profit but will charge his 

commission at 3%. If Mohan gains Rs. 124 more through 

the agent, what is the cost price of the car?  

--------xxxx------- 
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[6] 

 

vFkok/OR 

¼v½ ,d dkj[kkus esa 6 Jfed vkB ?k.Vs izfrfnu dke djds 4 QkVd 20 

fnu esa cukrs gSaA ;fn 9 Jfed izfrfnu nl ?k.Vs dke djsa rks 6 

QkVd fdrus fnu esa cuk ldsaxs\           � � ��  

 In a factory 6 workers, working eight hours a day manufactures 4 

gates in 20 days. If a workers work ten hours a day, in how many 

days will they manufacture 6 gates?  

 

¼c½ 15 la[;kvksa dk vkSlr 15 gS rFkk izFke 8 la[;kvksa dk vkSlr 8 gSA 

vfUre 7 la[kvksa dk vkSlr Kkr djksA    � � ��  

 The average of 15 numbers is 15 and the average of the first 8 

numbers is 8. Find out the average of the last 7 number.   

 

bZdkbZ&5/Unit-5 

iz-5- ¼v½ ,d O;kikjh dks 4-75 :- izfrehVj ds Hkko ls fof'k’V izdkj dk  

diM+k cspus ij 5% dh gkfu gksrh gSA og izfrehVj fdl Hkko 

ls ml diM+s dks csps fd mls 5% dk ykHk gksA 

A merchant suffers a loss of 5% by selling a particular 

type of cloth at Rs. 4-75 per metre. At what price per 

metre should he sell that cloth so that he may gain a profit 

of 5% .          � � ��  

 

 

 

[3] 

 

bZdkbZ&2/Unit-2 

iz-2- ¼v½ ;fn � = �1 32 4� ,   rks � dk eku Kkr dhft,   � � ��  

tcfd �� + 2� + � = 0             

  If � = �1 32 4�  find the value of B,  

when  �� + 2� + � = 0  

 

¼c½ fuEukafdr lkjf.kd dk eku Kkr dhft, &        � � ��  

Find the value of the following determinant –  

�1 3 12 5 46 1 0� 
 

vFkok/OR 

¼v½ eku crkvks &                    � � ��  

 Find the value of -   

√45.37!  × #∙ 7692&' 

 
¼c½ ;fn vk/kkj 10 ij ()*+,     � =∙ 3010 gks rks &          � � ��  

()*+, 7516 − ()*+, -59.� + ()*+, -800243. 

 If ()*+,     � =∙ 3010, to the base 10, then find   

()*+, 7516 − ()*+, -59.� + ()*+, -800243. 

 

P.T.O.

. 
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[4] 

 
bdkbZ&3/Unit-3 

iz-3- ¼v½ vt; us 6% okf’kZd C;kt dh nj ls 4]000 :- dk _+.k  

fy;kA mlus 2]500 :- rqjar fdju dks 9% okf’kZd C;kt dh 

nj ls m/kkj ns fn;s rFkk 'ks’k 12% okf’kZd dh nj ls nhuk 

dksA rhu o’kZ ckn mlus mu nksuksa ls /kujkf'k okil ysdj 

viuk dtZ pqdk fn;kA mldk ykHk crkb,A    � � ��  

Ajay obtained a lone of Rs. 4,000 at an interest rate of 6% 

per year. He immediately lent Rs. 2500 at an interest rate 

of 9% per year to Kiran and the balance at 12% per year to 

Deena. After these years he collected the amounts due to 

them and repaid his loan. Find his gain.  

¼c½ fdrus o’kZ ckn 3000 :- dk pdzo`f) C;kt 775-20 :- gksxkA 

tcfd C;kt dh nj 3% okf’kZd gS rFkk C;kt dk vkx.ku 

v)Z&okf’kZd fd;k tkrk gS\           � � ��  

 In how many years the compound interest of Rs. 3000 will 

be Rs. 775.20. When interest is calculated half-yearly@ 

3% p.a.? 

vFkok/OR 

¼v½ pdzo`f) C;kt vkSj lk/kkj.k C;kt ds chp vUrj Li’V  

dhft,A              � � ��  

Explain the difference between Simple Interest and 

Compound Interest.            

 

 

[5] 

 
¼c½ 500 :- dh 2 o’khZ; ns; dk 4% okf’kZd dh nj ls orZeku  

ewY; rFkk feJ/ku Kkr dhft, tcfd Hkqxrku okf’kZd gksA  

Find the present value and amount of an annuity due of 

Rs. 500 for years at 4% per annum. When it is paid 

annually.         � � ��   

 

bZdkbZ&4/Unit-4 

iz-4- ¼v½ ,d crZu esa nw/k vkSj ikuh dk vuqikr 3%5 gS vkSj ,d nwljs  

crZu esa 6%1 gSA nksuksa crZuksa ds feJ.kksa dks fdl vuqikr esa 

feyk;k tkuk pkfg, ftlls nw/k rFkk ikuh ds chp vuqikr 7%3 

gks tk,\             � � ��  

In one pot the ratio of milk and water is 3:5 and in another 

pot it is 6:1. In what ratio should the contents of the two 

pots be mixed so as to make the ratio between milk & 

water 7:3? 

 
¼c½ ,d mEehnokj dks 65% oksV feys rFkk og 2745 oksVksa ls 

fot;h jgkA crkb, dqy fdrus oksV iM+sA     � � ��  

A candidate wins the election by 2745 votes getting 65% 

votes. Find the total number of votes last.  

 

 

 

P.T.O.

. 


